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Percentages: I
To find...
50% divide by 2
10% divide by 10
25% divide by 4
1% divide by 100

Types of number:

Order of operations
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FDP: Change the
denominator so it
becomes 100 5
Fraction Percentage Divide by 100 .
— ge "~ T, Decimal
Wirite the number
with 100 as the -
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Fraction g Percentage g Decimal
|_Fration | _Porcentago ] _Decimal _

o
[l -
o gi-ﬂ j={ R TR I TR

1
1
1
1
1
1
1
1
1
1
1
1
I
I
1
1
I
I
1
1
1
1
1
1
1
1
1
1
1

50%

25%

20%

10%

1%

75%

0.5

0.25

0.20

0.10

7 8 91011121314151617 181920

EREAA AR




-———————-———-————-——u-m-nrl—-——————-————————————————--——---——————————————————————-

Averages:
Mode = Most frequent piece of data
Median = Once data is ordered smallest
to biggest, the median is the middle
Mean = Add all pieces of data together

R

and divide by how many there are

b

= Dif nce between the
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HCF & LCM:

| Scatter graphs —

Highest Commaon Factor

Lowest Common Multiple
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Types of correlation:

Positive

Graphs:
Equation of a straight line:
y=mx+c
i _ changeiny
gradient(m) = —cmﬂge %

: Converting Measurements:
1 . o
= ___|> ’*ﬂ |_ 1000ml = 1 litre. = 1000g = 1kg
:  / LE‘ f5l = 0.11 = 100m| - kg = 0.1kg = 100g
1 *1000 +1=0.251 = 250ml
1 p——ll i‘i-‘ﬁs!-' -~ =1000 kg = 0.25kg = 2509
i L= 500ml
I : M eomstersom kg g kg - 0:5kg = 5009
: e L bl #1000 ikg = 0.75kg = 7509
1
1 *1000 %100 *10
1 S R W e, G g
1 km m cm mm
| L R
: +1000 +100 +10
: 1000 metres = 1 kilometre Liem = 0.25km = 250m
1 S Him = 0:5km = 500m
- - : 10mm = tem 1km = 0.75km = 750m
Negative No Correlation | _bhiu = 0.1km = 100m
J
1
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Factors & Multiples:

Factorsof18:1,2,3,6,9, 18
Multiples of 18 : 18, 36, 54, 72, 90, 108...

==

— -1
r Factors are numbers that

| multiply to get that number

| Multiples are numbers in that

times table
O -
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Shape : Angles
e S — — B S il i 15 i 3 s [ s 5 i o,
T .
| Iength o 224
] . |
. ; I 1 117° T l
i Area = length xXwidth 1 63" A
I P 20
& I : Angles on a straight line Angles around a point |
I 1 always total 180°. always total 360°. ;
_ basexheight gy [
. height Area = — % | H 123
| = : 50° 50° :
5 base I : 123° [
I ¢ : Opposite angles that share a vertex are equal. i
- 1 1
I height Area = basexheight I : A Sum of Interior Angles = (n - 2) x 180" *
1
- Lya e
I : = = E‘; Z] 180" = 540°
; ‘\% I : CE s ) -] 540" + 5 = 108" [
| o il % .
. = Bt Circumference = mxD I : ) [
1 7]
I ; Area = wxr? % a+b+c+d=360° :
"C‘amferz“‘ﬁ 1 [
i 1 L]
i ;
1
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Skill 1— Factorising
Factorisation is the reverse
of expanding brackets. le
you take out a common
factor and put brackets into
the expression. To
factorise you should look
for common factors for
every term

Retrieval Core Maths Knowledge _

Factorise 12x + 4.
4(3x + 1)

Factorise 3p> - 2p? + 8p.
pBp*-2p +8)

Skill 2— Expanding Brackets

To expand (multiply out)

brackets, every term in

the bracket is multiplied

by the term outside the
bracket

Skill 3— Substitution

Expand 3(x + 2).
3x+6

Expand and simplify 4y(2y = 3) = 3y(y - 2).

8y?— 12y -3y’ + 6y

Substitution means replacing variables with numbers.

If y=4 and =6, work
out the value of 7y - 61.
7y-6t=7x4-6x6
28 - 36

= -8
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Ifg=5r=2andz=-3,
work out the value of rg + z2.
rq+z22=2x5+(-3)
' =10+9
=19

Skill 4—Averages

Here are seven
4 597

numbers:
4 4 6

The mode is the data value which occurs most often.
The mode of these numbers is 4.

The median is the middle value. Write the values in
order, smallest to largest. The median is:

44 4B6709

The mean is the total of all the values added
together divided by how many values there are.

The mean is:

(4+5+9+7+4+4+6)+7 =557

t valve — Il

Range = |

t value

The range of these numbers is:

9-4=5

Skill 5— Probability

An event that is certain to happen has a probability

of 1.

An event that is impossible has a probability of O.
The probability of rolling a 6 on a dice is

P6) = ¢

The probability of a coin landing heads vp is

P(heads) = &

Probability =

Golden rule

number of successful outcomes
total number of possible outcomes
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Skill 1—Expand and Simplify

Expand & Simplify:
2(x +6)i+ 4(x +2)

< <

2x+12 +4x +8
7 ' XX
6x +20

Skill 2— Substitution

Expand & Simpiify:
4(5x +6){— 5(2x - 3)

< <
20x + 24 l —10x+15
=7 P XX
10x + 39

By substituting values, calculate the value of T when b = —5

T =2b%>-3b

T = 2xbxb — 3xb
T =2x(-5%x-5) = (3x=5)

<«— 1) Write the formula out in long form.

<+— 2) Substitute.

T =2x(25) = (=15) <+———— 3) Work out following BIDMAS

T=50+15
T =65

Skill 3—Factorising

Single bracket
Factorise: 12x3 — 15x%

1) Find the
HCF of
the terms.

N\

3x2( 4x

2) Divide each term

by the HCF.
12x%

—15x*

-5 Check by expanding the bracket.

Skill 4—Types of Average and Range

Adice is rolled 5 times. Find the Mean, Median, Mode & Range for this set of scores: 1,0,6,2,1.

10,621 Mean = (0+1+1+2+6) + 5 The average with the most work!
place in G = 10+5 The sum of all the data values
order 0,1,1,2,6 - divided by,
XX XX the total number of data values.
Median= 1 Range=6-0 Mode = 1
Middle data value after =6

Most common data value
The difference between the

highest and lowest data value.
This shows us the spread of the data.

Put in ascending order

Skill 5—Probability. Expectation

If we roll the dice 12 times, e

how many times do we expect to score a 2?

We randomly pick a cube then replace it.

If we make 60 picks, how many times do

1 we expect to pick a red cube?

P(2) ==
@=¢

P(Red) =

[IEN)

We would expect to roll a 2 once in six rolls.

Number of trials = 12 Number of trials = 60

1
gxlz = 2 times

2
§><60 = 40 times
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Skill 1— Expanding & Factorising Skill 4— Mean from a frequency table
S——— BT, 2
[— . 7 1 |he +
7/&+2) C7x+14 .8 4 |33 J@ = 8_%?5_
ey 9 D) 2. \%‘&
7x+14 k 7(x+2) 10 3 3,0:4
~—
Skill 2— Expanding 2 single brackets :
— i Skill 5—Sample space diagram
Gla—ttissiamal A 6-sided and a 4-sided die are e
7a-77+6+2a thrown and their scores added.
9a-71 . . Score on 1* Dice
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